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This question paper contains printed pages  

 

Sr. No. Of the Question paper :  

Unique Paper Code: 12271202_OC 

Name of paper: Mathematical Methods for Economics II 

Name of Course: B.A. (Hons.) Economics 

Semester : II 

Duration: 2 hours 

Maximum Marks: 75 

 

Instructions for candidates:  

1. There are six questions in all 

2. Attempt any four questions 

3. All questions carry equal marks 

4. Use of simple calculator is allowed 

5. Answers may be written in Hindi or English but the same medium should be used 

throughout the paper 

 

परीᭃाᳶथयᲂ हते ुअनदुशे:  

1. कुल छः ᮧ᳤ ह।ᱹ 

2. ᳰक᭠हᱭ चार ᮧ᳤ᲂ के उᱫर दीिजए। 

3. सभी ᮧ᳤ᲂ के बराबर अकं ह।ᱹ 

4. साधारण कैलकुलेटर का उपयोग ᳰकया जा सकता ह।ै 
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5. उᱫर िह᭠दी मᱶ या अंᮕजेी मᱶ ᳰदए जा सकत ेह ᱹपर᭠तु पूरे पपेर मᱶ एक ही मा᭟यम का उपयोग ᳰकया 

जाना चािहए। 
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1. Consider the system of equations: 

𝑎𝑥 + 𝑦 + 𝑧 = 1  

𝑥 + 𝑎𝑦 + 𝑧 = 1  

𝑥 + 𝑦 + 𝑎𝑧 = 1 

Write the system in matrix form. Find the values(s) of 𝑎 for which the system has a 

unique solution, more than one solution and no solution. What is the degree(s) of freedom 

if there is more than one solution and what does that imply? In which case(s) the column 

vectors of the augmented matrix are linearly dependent? What happens to the nature of 

solutions (for different values of 𝑎) if the constant vector ൭
1
1
1

൱ is replaced by another 

constant vector ൭
0
0
0

൱?  

 

िन᳜िलिखत समीकरण िनकाय पर िवचार कᳱिजए: 

𝑎𝑥 + 𝑦 + 𝑧 = 1  

𝑥 + 𝑎𝑦 + 𝑧 = 1  

𝑥 + 𝑦 + 𝑎𝑧 = 1 

इस िनकाय को मᳯैᮝ᭍स ᱨप मᱶ िलिखए। 𝑎 के व ेमान ᭄ात कᳱिजए िजन हतेु इस िनकाय 

का एक अि᳇तीय हल होगा, एक से अिधक हल हᲂग ेतथा कोई हल नहᱭ होगा। यᳰद 

एक से अिधक हल हᲂ तो ᭭वात᭠᯦य कोᳯटयᲂ (degrees of freedom) कᳱ सं᭎या ᭍या होगी व 

इसका ᭍या ता᭜पयᭅ होगा? ᳰकन ि᭭थितयᲂ मᱶ सवंᳶ᳍त मᳯैᮝ᭍स (augmented matrix) के 

᭭त᭥भ सᳰदश रैिखकतः परत᭠ᮢ (linearly dependent) हᲂग?ेयᳰद ि᭭थर सᳰदश൭
1
1
1

൱को एक 
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अ᭠य ि᭭थर सᳰदश ൭
0
0
0

൱ से ᮧित᭭थािपत कर ᳰदया जाए तो हलᲂ कᳱ ᮧकृित पर ᭍या 

ᮧभाव पड़ेगा (𝑎 के िविभ᳖ मानᲂ हते)ु?  

 

2. Consider the following vectors: 𝑎 = ൭
1
1

−1
൱ , 𝑏 = ൭

2
0
2

൱ and 𝑐 = ൭
0

−2
1

൱. Calculate the 

cosine of the angles made between the pairs of vectors 𝑎 and 𝑏, 𝑏 and 𝑐, and 𝑐 and 𝑎. 

Also check whether these angles are acute, obtuse or right angle. Can the given 

vectors span the three dimensional vector space? Now considering 𝑎, 𝑏, 𝑐 to be just 

three points in the three dimensional space: construct the equations of straight lines 

which passes through 𝑏 and moves towards 𝑎, and the one which passes through 𝑐 

and moves towards 𝑎. Then construct an equation of a plane which passes through 

these three points 𝑎, 𝑏 and 𝑐. At which points does this plane intersect with the axes? 

िन᳜िलिखत सᳰदशᲂ पर िवचार कᳱिजए: 𝑎 = ൭
1
1

−1
൱ , 𝑏 = ൭

2
0
2

൱ and 𝑐 = ൭
0

−2
1

൱. सᳰदश-यु᭏मᲂ 

𝑎 व 𝑏, 𝑏 व 𝑐, तथा 𝑐 व 𝑎 के म᭟य िनᳶमत कोणᲂ कᳱ को᭔याᲐ(cosines) कᳱ गणना कᳱिजए। 

यह भी जाँच कᳱिजए ᳰक ᭍या ये कोण ᭠यूनकोण ह,ᱹ अिधक कोण ह ᱹया समकोण ह।ᱹ 

᭍या ᳰदए गए सᳰदश िᮢिवमीय सᳰदश-समि᳥ कᳱ रचना (span) सकते ह?ᱹ अब, 𝑎, 𝑏, 𝑐 

को िᮢिवमीय समि᳥ मᱶ माᮢ तीन िब᭠द ुलतेे ᱟए उन रेखाᲐ के समीकरण ᭄ात कᳱिजए जो 𝑏स े

गुजरते ᱟए 𝑎, कᳱ ओर जाती ह ैतथा जो 𝑐 से गजुरते ᱟए 𝑎 कᳱ ओर जाती ह।ै इसके बाद 

ऐसे समतल का समीकरण ᭄ात कᳱिजए जो इन तीन िब᭠दᲐु 𝑎, 𝑏 व 𝑐 से गुजरता ह।ै 

यह समतल अᭃᲂ को ᳰकन िब᭠दᲐु पर ᮧित᭒छेᳰदत (intersect) करता ह?ै 
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3. Consider the function:𝑓(𝑥, 𝑦) =  ට
௫ ା ௬

௫ ି ௬
. Find and sketch the domain of the function. 

Draw the level curve of this function at level 𝑘 = 2. Is this function homothetic? 

Verify Euler’s theorem if possible. Find the equation of the tangent plane at the 

point(𝑥଴, 𝑦଴) = (1, 0). From the same point find the direction in which the value of 

the function increases most rapidly. What is the maximal rate of increase? What is the 

approximate change in the value of the function if it moves from the given point 

towards the point (3, 4) by one unit? 

 

फलन:𝑓(𝑥, 𝑦) =  ට
௫ ା ௬

௫ ି ௬
 पर िवचार कᳱिजए। इस फलन के परास (domain) को ᭄ात कᳱिजए व 

आरेिखत कᳱिजए। इस फलन के ᭭तर 𝑘 = 2 पर ᭭तर वᮓ (level curve) को आरेिखत 

कᳱिजए। ᭍या यह फलन होमोथेᳯटक (homothetic) ह?ै यᳰद स᭥भव हो तो ओयलर के ᮧमेय 

को स᭜यािपत कᳱिजए।  िब᭠द ु (𝑥଴, 𝑦଴) = (1, 0) पर ᭭पशᱮ समतल (tangent plane) का 

समीकरण ᭄ात कᳱिजए। इसी िब᭠द ुसे वह ᳰदशा ᭄ात कᳱिजए िजसमᱶ इस फलन का 

मान सवाᭅिधक तेजी से बढ़ता ह।ै वि᳍ कᳱ सवाᭅिधक दर ᭍या ह?ै यᳰद ᳰदए गए िब᭠द ु

से िब᭠द ु (3,4) कᳱ ᳰदशा मᱶ एक इकाई चलने पर फलन के मान मᱶ सि᳖कट 

(approximate) पᳯरवतᭅन ᭍या होगा? 

 

4. Consider the function: 𝑓(𝑥, 𝑦) =  𝑥
భ

య𝑦
భ

మ ;    (𝑥, 𝑦 > 0). Find the equation of the tangent 

at a specific point on the level curve 𝑓(𝑥, 𝑦) =  1. Find the marginal rate of 

substitution between 𝑦 and 𝑥. Find the elasticity of substitution between𝑦 and 𝑥. 
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What is its geometric interpretation? Mathematically check whether the given 

function is concave / convex. Is the concavity / convexity strict? Geometrically check 

whether the function is quasi-concave / quasi-convex. Calculate the approximate 

value of 𝑓(1.03, 1.01).  

फलन: 𝑓(𝑥, 𝑦) =  𝑥
భ

య𝑦
భ

మ ;    (𝑥, 𝑦 > 0) पर िवचार कᳱिजए। ᭭तर वᮓ 𝑓(𝑥, 𝑦) =  1 के एक 

िविश᳥ िब᭠द ुपर ᭭पशᭅ रेखा का समीकरण ᭄ात कᳱिजए। 𝑦 व 𝑥 के म᭟य ᮧित᭭थापन कᳱ 

सीमा᭠त दर (marginal rate of substitution) ᭄ात कᳱिजए। 𝑦 व 𝑥 के म᭟य ᮧित᭭थापन कᳱ 

लोच (elasticity of substitution) ᭄ात कᳱिजए। इसकᳱ ᭔यािमतीय ᳞ा᭎या ᭍या ह?ै यह 

फलन अवतल (concave) ह ैया उᱫल (convex), इस बात कᳱ गिणतीय तरीके से जाचँ कᳱिजए। 

᭍या यह अवतलता/ उᱫलता स᭎त (strict) ह?ै ᭔यािमतीय तौर पर जाचँ कᳱिजए ᳰक ᭍या यह 

फलन अ᳍ᭅ-अवतल (quasi-concave) ह ै या अ᳍ᭅ-उᱫल(quasi-convex)। 

𝑓(1.03, 1.01)कासि᳖कट मान ᭄ात कᳱिजए। 

 

5. Examine the following function for maxima, minima or saddle points:  

𝑓(𝑥, 𝑦) =  𝑥ଷ +  𝑦ଷ −  6𝑥ଶ −  3𝑦ଶ +  9𝑥 + 10.  

Now find the global extreme points of the following function:  

𝑔(𝑥, 𝑦) = 3𝑥 + 2𝑦 − (𝑥 + 𝑦)ଶ on the closed and bounded set𝑆 where  

𝑆 = {(𝑥, 𝑦): 0 ≤ 𝑥 ≤ 2, 0 ≤ 𝑦 ≤ 3, 𝑦 ≤ 𝑥 + 2}. 

 

िन᳜िलिखत फलनᲂ कᳱ उिᲬ᳧ᲂ (maxima), िनि᳧᳜ᲂ (minima) या काठी िब᭠दᲐु (saddle 

points) हते ुजाँच कᳱिजए:  

𝑓(𝑥, 𝑦) =  𝑥ଷ +  𝑦ଷ −  6𝑥ଶ −  3𝑦ଶ +  9𝑥 + 10.  
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अब िन᳜िलिखत फलन के वैि᳡क चरम िब᭠दᲐु (global extreme points) को ᭄ात कᳱिजए:  

𝑔(𝑥, 𝑦) = 3𝑥 + 2𝑦 − (𝑥 + 𝑦)ଶ,ब᭠द (closed) व पᳯरब᳍ (bounded) समᲬुय 𝑆 पर, जहा ँ

𝑆 = {(𝑥, 𝑦): 0 ≤ 𝑥 ≤ 2, 0 ≤ 𝑦 ≤ 3, 𝑦 ≤ 𝑥 + 2}. 

 

6. A consumer has a utility function 𝑈(𝑥, 𝑦) = 𝑥 + 3ඥ𝑦. If the prices of good 𝑥and 𝑦 

are 𝑃௫ and𝑃௬ respectively and income of the consumer is equal to 𝑚, derive the 

demand functions of the consumer using the Lagrangean technique. Check the second 

order conditions. Explain the solution geometrically by drawing appropriate level 

curves for 𝑈(𝑥, 𝑦) together with the graph of constraint function. Find the impact of a 

change in 𝑚 on equilibrium values of 𝑥, 𝑦 and optimal utility. 

एक उपभोᲦा का उपयोिगता फलन 𝑈(𝑥, 𝑦) = 𝑥 + 3ඥ𝑦 ह।ै यᳰद व᭭तुᲐ𝑥 व 𝑦 कᳱ कᳱमतᱶ 

ᮓमशः 𝑃௫ व 𝑃௬ ह ᱹतथा उपभोᲦा कᳱ आय 𝑚 ह,ै तो लैᮕांिजयन िविध कᳱ सहायता से उपभोᲦा 

का मांग फलन ᳞ु᭜प᳖ कᳱिजए। ि᳇तीय ᮓम कᳱ शतᲄ कᳱ जाचँ कᳱिजए। 𝑈(𝑥, 𝑦) हते ुउपयुᲦ 

᭭तर वᮓᲂ को ᮧितब᭠ध फलन के साथ आरेिखत करत ेᱟए उपरोᲦ हल को ᭔यािमतीय ᱨप से भी 

समझाइए। 𝑚 मᱶ पᳯरवतᭅन के पᳯरणाम᭭वᱨप 𝑥, 𝑦 के स᭠तुलन अव᭭था ᭭तरᲂ तथा इ᳥तम 

उपयोिगता पर होने वाले ᮧभावᲂ को भी ᭄ात कᳱिजए। 
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